
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 4th Day Unit # 1

Q.No.1. Choose the correct option. (0.75 × 4 = 3) Šg„WB»ZN[™,X
i) The price of a car is Rs.978 169 and the price of tractor is Rs.887 668. What

are the total price of car and tractor?

ggggzzzz9999ììììXXXX»»»»ggggZZZZzzzzggggRRRR,,,,IIIIÅÅÅÅÀÀÀÀ7777HHHHìììì???? 887 668 ggggzzzz9999ììììZZZZzzzzggggRRRR,,,,IIIIÅÅÅÅ7777  978 169 ZZZZqqqq----»»»»ggggÅÅÅÅ7777
(a) Rs. 1 865 837 gz9 1 865 837 (b) Rs. 1 897 847 gz9 1 897 847

(c) Rs. 2 866 647 gz9 2 866 647 (d) Rs. 1 806 947 gz9 1 806 947

ii) There are 768 121 children and 456 789 women in a city. How many more

children are there than the women?

ììììXXXXúúúúggggÂÂÂÂVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ””””VVVVÆÆÆÆ££££««««~~~~XXXXiiiicccc****ŠŠŠŠ{{{{ìììì???? 456 789 ZZZZzzzzggggúúúúggggÂÂÂÂVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ 768 121 ZZZZqqqq----àààà~~~~””””VVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ
(a) 301 312 (b) 331 332 (c) 311 332 (d) 313 332

iii)Observe the given table and identify the rule of patterns.

ŠŠŠŠbbbb‰‰‰‰××××ÃÃÃÃ̈̈̈̈ggggÐÐÐÐŠŠŠŠBBBBZZZZzzzzgggg%%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKK0000++++„„„„™™™™,,,,XXXX
Position cccc 7777iiii 1 2 3 4

Term RRRR,,,,xxxx 9 18 27 36

(a) Dividing by 9 ™äÐ „9 (b) Multiplying by 9 ¢[™äÐ 9

(c) Adding by 9 ¦™äÐ 9 (d) Subtracting by 9 ¸&™äÐ 9

iv) A toy factory manufacture 73 810 toys in 11 days. How many toys will it

manufacture in a day?

[[[[ääää¯̄̄̄CCCCììììXXXXzzzz{{{{ZZZZqqqq----ŠŠŠŠyyyy~~~~~~~~ÄÄÄÄ[[[[ääää¯̄̄̄ññññÏÏÏÏ???? 73 810 ŠŠŠŠââââVVVV~~~~ 11 ZZZZqqqq----[[[[ääää¯̄̄̄ääääzzzzZZZZàààà1111~~~~
(a) 6 410 (b) 6 610 (c) 6 710 (d) 6 810

Q.No.2.The price of a shop is Rs.456 721 and the price of a flat is Rs. 987 676.

Find the total price of the shop and the flat. (1 × 2 = 2)

ggggzzzz9999ììììXXXXŠŠŠŠ»»»»yyyyZZZZzzzzgggg****ÅÅÅÅÀÀÀÀ7777¥¥¥¥xxxx™™™™,,,,XXXX 987 676 ggggzzzz9999ZZZZzzzzggggZZZZqqqq----****ÅÅÅÅ7777 456 721 ZZZZqqqq----ŠŠŠŠ»»»»yyyyÅÅÅÅ7777
__________________________________________________________________

Q.No.3.Observe the given table and find the rule of patterns (1 x 2 = 2)

××××ÃÃÃÃ̈̈̈̈ggggÐÐÐÐŠŠŠŠBBBBZZZZzzzzgggg%%%%ääää»»»»ZZZZßßßßwwww¥¥¥¥xxxx™™™™,,,,XXXX
Position cccc 7777iiii 2 4 6 8

Term RRRR,,,,xxxx 40 80 120 160

Q.No.4.35 288 blocks are to be packed in 28 boxes. Find, (1 × 3 = 3)

eeee1111VVVV~~~~ggggKKKKYYYYDDDD÷÷÷÷¥¥¥¥xxxx™™™™,,,,XXXX 28 ššššuuuu 35 288

(a)  how many blocks are there in each box? CCCCÙÙÙÙeeee""""~~~~ÄÄÄÄššššuuuuƒƒƒƒVVVVÐÐÐÐ????
(b) how many blocks will be left? ÄÄÄÄššššuuuu!!!!****¹¹¹¹ƒƒƒƒÐÐÐÐ????
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